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SEFAE0 =2 3,085,180 3,876,378 AT791,198
= 24,300
Al 3,060,880
sl &S 2,642,590 3,274,437 N\B31,847
== 24,300
Al 2,618,290
ANglls2t SE2H 435,460 490,000 AB4,540
oA DH(FRAC) M SEX 435,460 490,000 AB4,540
201 Ler23 | 375,460 412,000 A36,540
01 At2t2ltl 299,600 320,100 /20,500
OXZUOH & NAE=
1,000,000 x20H 20,000
OXZSHZHI 20,000,000& *12] 20,000
OZE2= M= 59,600
OAEY & TIXNEII=
7,000,000& 12 7,000
O&AIEA 2,000 *1,0002+90% 1,800
OelZ2& 2,000 #3, 0002 +90f% 5,400
OE= 40, 000 *5005%90% 18,000
Ooglg= 20,000,000 13l 20,000
Odil= 500,000 x4H 2,000
OJIetE2= 3,000, 0002 22| *90f% 5,400
OXS=s5HI 100,000,000 <22 200,000
02 s3=gHl 23,960 8,600 16,360
oOXE=EE= 10,000,000,000& +0. 2% 20,000
oRERs 4,400,000 * 12 %90% 3,960
03 ALY 51,900 83,300 A31,400
O&AIZCIUIOIE] 2,000,000& «3H*3& 18,000
O & ALHI 2,000,000& %12 2,000
O AHEBICHO4H 22,000,000 *13] 22,000
OA2Z7YH| 5,000,000 *90% 4,500
(OFSEeIEtgela)
120,000 x5 10 %90% 5,400
301 EtE NS 24,000 18,000 6,000
09 2B =AY 24,000 0 24,000
OLIgI =0 4,000,000 6 24,000
308 AtAIEHMSOIE 6,000 6,000
13 SI[2S0He & EAS A 6,000 6,000
(OFSPNE=3--) 2,000,000& x15+32 6,000
401 Al HIZL 201 30,000 60,000 230,000
04 A2 S AIEH] 30,000 60,000 30,000
OTANAS(=E, HHME S)
30,000,000& *13] 30,000
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S FFAl 102 D188 301,700 0 301,700
Sg EFAl 104 J18H 301,700 0 301,700
201 er23| 242,100 0 242,100
01 At2teltl 199,500 0 199,500
OXSUN & FXHAAY
30,000,000 30,000
OxZEgE € UXNEVI= 11,000
OAEY 70,0002 x50&*23] 7,000
og4Edg 2,000,000& *23] 4,000
oo} € E2= MAHI 38,500
O=E 40, 0002 *5005+90% 18,000
O&AIEA 1,500 2, 000 *90% 2,700
Ocl2d 2,000& %2, 0005%90% 3,600
OJIet22= 6,000, 0003 12/ +90% 5,400
OOCLEAS M 2,000, 0002 *12|*90f% 1,800
(@LNE=3 1,000,000& *23] 2,000
Ooglg= 5,000,000& *12] 5,000
oz EULI2SHI(EY, EHE)
60,000, 000& »23] 120,000
02 S3=4gl 5,000 0 5,000
OXSEE= 4,000,000,000&*0. 1% 4,000
ORVURS(ZHE, =5LSB)
500,000 <22 1,000
03 A=l 37,600 0 37,600
O AHHAI 10,800
ONera] A 10,0003 »200& 2,000
O AIFLHY AL 5,000,000 *12] 5,000
OAlZIEN eA2d 2,000,000& %12 2,000
OA2E78H| 2,000, 0002 12/ *90f% 1,800
OSAOICIH &Yl oYl
10,000,000& * 13l 10,000
OEAIZCIUIOIH 2,000,000 «1&+3& 6,000
OQAH(HBEX A H=)
120,000 * 102 * 10 %90% 10,800
301 LEIE NS 3,600 3,600
11 dALEEIXIE S 3,600 3,600
OTANEEE AHIE4
20,0003 23| x902 3,600
308 AXIHS0IA 12,000 12,000
18 SIS0t HAS A 12,000 12,000
O&AEER 2,000,000 x35*2& 12,000
401 Al HIZ R 0HbI 44,000 44,000
04 HARZHEAIZH] 44,000 44,000
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OTANAS(=E, HHHME S)
22,000,000& »23] 44,000
ANElls2 22t JAl 24 345,393 576,492 A231,099
22 D2 | (SAIH §Hol= JI&d) 245,293 183,270 62,023
101 21A4H| 21,113 0 21,113
04 JIZtN2Z2 XS 21,113 0 21,113
OEXSHHTAHS2) 21,113
@Jalal:] 86,9203 x1H 262U +8F 18,080
Og&ESItd| 200,000 x1E 12 200
OY X2 4| 86,9202 x1H+82 696
(@ZIN L-=h= Y= 2,137
-=glHs 18,976,000 4. 5% 854
-AL 2 18,976,000 *3.545% 673
“HAIRYEE 673,0002%12.81% 87
-1ELE 18,976,0002 *1.75% 333
AR = 18,976,000 * 1% 190
201 2= 185,880 141,270 44,610
01 At22t2lt] 146,700 99,430 47,270
OXNSUU = XAt
10,000,000 6 60,000
oOX=EY € LXNE VIS 18,000
OAIEg 8,000,000& *12 8,000
OogazEd 10,000,000& *13] 10,000
oo & E2E NH 28,700
OL= 30,0002 x500* 15 +90% 13,500
Odli= 500,000 62| 3,000
OclE& 2,000 %4, 0005 +90% 7,200
Ooglg= 5,000,000& 12 5,000
Oz Z2el2sHI(BHY, BtE)
20,000,000& *23] 40,000
2 s5=34l 3,080 7,520 A4,440
ORERS(ZFY, &5 €35)
300,000 *23] 600
OXZEE= 2,000,000,000&+0. 1% 2,000
ousolnEEEE
10,000,000 «6E 0. 8% 480
03 A= I 36,100 34,320 1,780
OFAIRCIHIOIEH 2,000,0002 12 +42 8,000
OT ALY AL 3,000,000 12 3,000
OJH el AL 10,0002 %200 *13] 2,000
OSHOICIN ZHITHoiY]
15,000,000 *13] 15,000
OAx2F g 3,000, 0002 *12/+90f% 2,700
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OdZUHH|(HZLX & E=)
120,000 x5 10 %90% 5,400
203 =] 2,700 2,700
03 Al EZIQL =ZIY| 2,700 2,700
OFAl YU DISEE P2%X
3,000,000 *90% 2,700
301 22N = 1,600 3,000 21,400
11 dALEEIXIE S 1,600 3,000 21,400
OBANTEE &HIEY
20,0003 =23 x40 1,600
308 AHXIEMSOIE 4,000 4,000
18 SIS0t HAS A 4,000 4,000
oA 4,000
OQIHAE L] 80,000& 50 4,000
401 AIEHIZ SR HYI 30,000 39,000 29,000
04 HARZHE Al ZH| 30,000 39,000 29,000
OTAE ZdH(CH MM S)
30,000,000& *13] 30,000
22 JIEFN(HD - FA2HIHA) 100,100 144,800 AN44,700
201 er2&| 74,100 105,800 A31,700
01 At2teltl 48,880 80,000 A31,120
OFOEl & FHEArelbl
3,000,000& x2&H 6,000
oxzZEd 4 UXE JIS 7,000
ogdEy 3,000,000& %12 3,000
OAEY 50,000 80 4,000
OvClsf= M 23,880
O=E 30, 000 *400+90% 10,800
Oel2d 2,000 +3,0005%90% 5,400
OXEAH 1,000 20052 *90% 180
OJIet22= 3,000, 0002 12/ %90f% 2,700
Oflg = 2,000,000& %12 2,000
O#1l= 500,000 x2H 1,000
OOtEHM S M A 2,000, 0002 12/ *90f% 1,800
oz EULI2EHI(EHY, EHE)
6,000,000& 22 12,000
02 S3=gHl 4,260 4,000 260
OXSEE= 3,000,000,000&*0. 1% 3,000
ORERS(ZIY =SLSE)
700, 0002 x22| *90f% 1,260
03 A= &I 20,960 21,800 AB40
O H A 8,800
OJfeal &gd| 10,0002 %100 1,000
OT ALY AL 2,000,000 *23] 4,000
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OAIZIE0 A2 S 2,000,000& %12 2,000
Ox2F ¢ 2,000,000& *12]x90% 1,800
OFAIZCIUIOIE 2,000,000 x1&~2& 4,000
O &0ICIHEHITHOHI
6,000,000& 12 6.000
oSOl (FBLX L HA)
120,000 x2& 10 %90% 2,160
301 EtE2 NS 400 14,000 13,600
11 #AIAHIXIZ S 400 14,000 13,600
O&A==E Adl2d
20,0003 13| x20! 400
308 AHXIHMSO0IA 3,600 3,600
13 SI12S0He 4 A AS A 3,600 3,600
OTAEE 2,000,000 x2Z*9(0% 3,600
401 AIEHIL 2] 22,000 25,000 3,000
04 SHAFRERIAI S| 22,000 25,000 3,000
OVNAB(EE, HHUHK S)
11,000,000& »23] 22,000
Haslilszt 29 262,029 383,004 120,975
== 24,300
Al 237,729
HEs0l=2 J1=A 65,996 98,054 A32,058
201 =3 51,436 75,954 A24,518
01 At22t2lH] 39,750 59,910 220,160
OOl & & Atelbl
3,000,000 x4H 12,000
OX=EY # LNEII= 7,000
ogdEd 1,000,000 *32] 3,000
OAEEY 50,0002 +x80&*13] 4,000
oelif & E2E MAHI 15,750
Oo&k=E 30, 0002 x300+90% 8,100
O&AIEA 2,000 *5002+90f% 900
oclzZ8! 2,000 %2, 0005 +90% 3,600
OJIEt=E= 3,500, 0002 12/ *90f% 3,180
AZoe2EHI(BrY, BE)
2,500,000 #23] 5,000
02 S3=4gl 1,546 2,644 1,098
OXSEE= 1,000,000, 0002 *0. 1% 1,000
ORERS(ZHY =SLSE)
1,000 50052 +90% 450
Ollsel nEes 3,000,000 *4E 0. 8% %
03 Ar=EHI 10,140 13,400 A3,260
O&AIZCIUIOIE] 2,000,000« 1H*1& 2,000
O©IHSr& ALl 10,0002 %100 1,000
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OZHOICIHEHIN 0L
3,000,000& %12 3,000
OA22Z2YH| 1,000,000 12| *90f% 900
ON2IIAH|(ABEX ¥ E=)
120,000 *3Z *10& %90% 3,240
301 LEIE NS 2,100 2,100
11 dALEEIXIE S 2,100 2,100
O=2ged A2y
10,0003 3 70 2,100
308 AtXIEMSOIE 2,460 0 2,460
18 SIS0t HAS A 2,460 0 2,460
(OFSPNE=3=] 2,460
Ollsgigns
1,800,000 x15+12 1,800
OelEs 224 33,0003 ~20 660
401 Al HIZ 01| 10,000 20,000 10,000
04 SALZHEAIZH| 10,000 20,000 10,000
OTANAS(=E, HHMMA S)
10,000,000& x12] 10,000
HEstl=2 328 85,920 75,840 10,080
201 et 3| 61,860 59,340 2,520
01 At2t2l] 51,550 47,000 4,550
OOl & & Atelbl
5,000,000 38 15,000
OX=EY « UNEII= 5,000
(@)=Fg=g 1,000,000 32! 3,000
OAIEg 50,0003 »40& 2,000
oelif & E2E MAHI 25,550
Oo&k=E 20,0003 x250F*35+90% 13,500
OXAH(BR) 2,000 *1,0002+90% 1,800
OBAISA 2,000 *500F*90% 900
OFL=$ 2,000& %2, 0005 %90% 3,600
OJIet2=2= 2,500, 0002 12/ *90f% 2,250
Oogns 500,000 +3H 1,500
Oflg= 2,000,000& %12 2,000
oxZaeI28HI(BY, BHE)
3,000,000& *22] 6,000
2 S5=2g4l 1,070 1,420 A350
(OFN=L-t=Y= 500,000,000 *0. 1% 500
ORERI(ZHY, =5¢38)
1,0002 *5002+90% 450
Otl=el nEZE 5,000,000 *3Z+0. 8% 120
03 A2 HHI 9,240 10,920 21,680
OHEAIZCIUIOIH 2,000,000 ~1&+1& 2,000
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OIN ALY 10,000 *100 1,000
O A0ICI01ZHITHO1 b
3,000,000 *13] 3,000
OAEE Fb| 1,800,000 =18/ *90% 1,620
ORBOIH|(NBLX L B4)
120, 0002 *3H x5 *90% 1,620
301 LPBNS 1,800 1,500 300
11 AU S 1,800 1,500 300
02U AHIPA
10,000 *3H 60 1,800
308 AXISHMSOIA 4,260 4,260
13 BI 12 SOICHEHE A X LAE AL 4,260 4,260
OFAIEE 4,260
Obls&XZnz
1,800,000& *15+2& 3,600
OQIHYEEH| 33,000& x20 660
401 A& B 20HY| 18,000 15,000 3,000
04 A2 AIEH| 18,000 15,000 3,000
OFANHE(EE, HAME S)
18,000,000 *13] 18,000
CHES sZ0I=H 81,000 97,000 A 16,000
= 24,300
Al 56,700
201 Let2| 81,000 97,000 A 16,000
& 24,300
Al 56,700
01 Ar2eltl 58,356 67,950 A9,594
OFAXAH & HZUHYI
4,662,5002x8Z 37,300
T 24,300
Al 13,000
OFEZEIZ ¥ CKIE JIE
1,000,000 62| 6,000
oM & EEE NE| 10,056
O&E 20,0002 *3002+ 15 6,000
OFEAGEAM 1,000&*1002+15 100
Oel&e 1,4003+3002+15 420
OXAH 1,000 *362+15 6
OJIEtzE= 2,000,000&*1& 2,000
@k k=1 500,000 x1H 500
OHYZ(g92) 1,000,000 *12| 1,000
OOCIEAMZHMZ 1,000,000&*1& 1,000
OXEZ25HI(BrY, BHE)
2,000,000 *23| 4,000
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02 S5=g4l 1,144 1,660 516
OXZEE= 500,000, 000& *0. 1% 500
Otl=el e 37,300,000& +0. 8% 29
ORVUQS(ZHE, =S5LSB)
1,500 %230 345
03 A2 I 21,500 27,390 25,890
OHEAIZCIUIOIH 2,000,000& «2&+2& 8,000
OTAIPHBAHFRI A AH AL
6,000,000& *12] 6,000
OIHSr ALl 10,0002 100 1,000
OXHIHOBI(RHBLEXR, ==, 7XE)
450,000 x5 2,250
(OF=b= | 100,000& +521 500
OLIALI(HBLR U EH)
150,000 x 12 +52 x5 3,750
AEIEN 28 24 29,113 31,036 1,923
101 ©1AH| 21,113 20,636 477
04 JIZtN2Z2XNSE+ 21,113 20,636 477
OEXEHHATPAHHES0I=2) 21,113
Oel2H| 86,9203 x 1B 262 +8F 18,080
Og&ESIt| 200,000 x12H 13 200
Ot 4| 86,9202 x1H+82 696
(@11 L-=y= Y= 2,137
-=0x=z 18,976,000 4. 5% 854
-AYL2E 18,976,000 *3.545% 673
“HAIRAYEE 673,0002%12.81% 87
-UEEE 18,976,0002 *1.75% 333
A EE 18,976,000 * 1% 190
201 Ler23 | 6,000 10,000 24,000
03 A= &I 6,000 10,000 24,000
ooeol, 344 Mg 2,000,000& 22 4,000
OTAIAHAHZ A, HIOILH
2,000,000& %12 2,000
301 EetE NS 2,000 400 1,600
11 #AIAHIXIE S 2,000 400 1,600
OEAEE SEHI 8,000 %258 x102] 2,000
D=3 AR0L 29 233,787 283,766 A\49,979
JI2HA HA2E 86,023 100,016 A13,993
101 @124H| 21,113 20,636 477
M ORIMZZ2NSE S 21,113 20,636 477
OSXEHAPAHDISHHATLR) 21,113
(@)uFal:] 86,9203 x1H+26 2«8 18,080
Og &= Itd| 200,000 x1EH 13 200
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OH X2 4| 86,9202 x1H«8 696
@ZIN 1==h= Y= 2,137
-=23=s 18,976,000 +4. 5% 854
A2 18,976,000 *3.545% 673
-HIIeLEE 673,0002%12.81% 87
-1ELE 18,976,0002 *1.75% 333
~SHEE 18,976,000 * 1% 190
201 et 3| 60,130 78,580 18,450
01 At 22|l 42,000 54,880 212,880
OXANE 7d ¥ &= 2,000,000 #32] 6,000
oXzEY € UXNEII= 5,000
OgdEY 1,000,000 *23] 2,000
OAIEE 50,0003 x30&+23] 3,000
ol & EE2= NHUI 31,000
Oo&k=s 20,0002 *500+22| *30fk 18,000
Ocl2d 2,000 *2, 500522 *9(0% 9,000
Oflg= 2,000,000 #23] 4,000
03 A= I 18,130 23,700 Ab,570
OEAIZCIUIOIH 2,000,000 «1&+32 6,000
O HIHAHI 3.810
OIH el AtH| 10,0002 100 #23 2,000
O He At 500,000& 23] 1,000
OA22Z2YH| 300, 0002 32| *90f% 810
Og4 0TI &I
2,000,000& *22] 4,000
OdZUHH|(HBLX & E)
,000& #4E 10 «00% 4,320
301 EtE N = 800 800
11 #AIMHIXIE S 800 800
O"¥AI=Y SEtl 8,000& 108 x102] 800
308 AHAIEHMSOIE 3,980 3,980
18 SIS HAS A 3,980 3,980
(OFSPNE=3-1 3,980
Oll=&xgiz 900,000&*x1E5*12 900
OIS 2| 77,0002 x40 3,080
=L A Al A= S 82,340 99,580 A17,240
201 fer23| 77,800 96,580 A18,780
01 AtR2t2|HI 63,200 77,980 A14,780
OF0El & FAArelbl
600,000 %14 8,400
O&ANE 7d $ A= 500,000& x 142 7,000
oX=ZEY € UXNEII= 21,000
OgdEg 1,000,000& * 143} 14,000
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OArdIEd 50,0002 x10&+ 143 7,000
ovlsf € E2= MAHI 26,800
oclzZ8! 2,000 10,0005 +90% 18,000
OJIets=2= 1,000,000 x22| *30f% 1,800
Oognz 500,000& *14H 7,000
03 A= I 14,600 18,600 24,000
O=ZsHIAE IME 200,000 %14 2,800
O A A 11,800
OIS ALHI 500,000& *142] 7,000
O THH ALHI 300,000& x142] 4,200
OAx2F 2] 300,000 *23] 600
206 M=l 3,000 3,000
01 MZH| 3,000 3,000
ONAY 2tZEHl & HALRSE
1,500,000& *22] 3,000
308 AHXIHMSO0IA 1,540 1,540
13 SI[2S0He A AS A 1,540 1,540
(OFSPNE=3--) 1,540
OelEs 224 110,000& * 142 1,540
ZMuF UERID 243t AAl 55,904 71,670 A15,766
201 er2 3| 51,794 51,670 124
01 AtR2telHl 40,480 38,110 2,370
O8ANE 74 & A= 3,000,000 12 3,000
OFOHl & F&AHIBI
3,000,000 x1H+3HE 9,000
OXZUHZ= 2,000,000& x2H 4,000
OX=EY € LUNEII= 3,600
ogdzEg 1,000,000 *23] 2,000
OARRIEZE 50,0002 x16&+23] 1,600
oelif & E2E MAHI 16,880
Oo&k=s 20,0002 *600+90% 10,800
Ocl2™ 2,000 *6002*90f% 1,080
(@LENE=3 500,000 x2H 1,000
oglgz 2,000,000& *22] 4,000
oz E2ULI2SHI(EY, EHE)
2,000,000& 22 4,000
03 A= SHI 11,314 13,560 N2,246
O&AIZCIUIOIE 2,000,000& x1&2& 4,000
Og4 0TI &I
4,000,000& 12 4,000
O HIHAHI 2,450
OIN ALY 10,0002 100 1,000
SUEAI 1,000,000& %12 1,000
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OAx2Z 2| 500,000% 12/ «90% 450
OdZUHH(HZLX & E=)
120, 0002 x2& x4 %90% 864
308 AtXIEHMSOIE 4,110 4,110
183 S| 2SS B XA AIE 4,110 4,110
(OFSUNE=3--1 4,110
OtlsgiZinz 900,000 x2E5+12 1,800
OIS 2| 77,0002 *30 2,310
o208 29 9,520 12,500 A2,980
201 er2 3| 9,520 12,500 2,980
01 AtR2te|HI 2,500 4,000 21,500
O™YAIHAEYI 100,000 52 500
OZE=HAH 2,000,000& 2,000
02 S5=24g4l 3,400 2,500 900
OSHRB(2IBEY, T2LL)
2,500& 1,200 3,000
OXSEE= 200,000,000 %0. 1%*22] 400
03 &A=& 3,620 6,000 2,380
OZAZ 200,000 %53 1,000
(CEINFSE 200,000 %52 1,000
OA2F2YH| 200,000 *92] *90% 1,620
LQETAIZ 2 202,045 280,222 AT8TT
ETAIZ 22| H 2 42,593 31,836 10,757
101 @124H| 21,113 20,636 477
04 JIZtNZ22 NS+ 21,113 20,636 477
O &SI A A 21,113
OglZit| 86,9202 x1H+26 2«8 18,080
OEE=It| 200,000 113 200
OH X2 4| 86,9202 x1H+8E 696
odli2g= 2,137
-=2%s 18,976,0002 *4. 5% 854
-2 EE 18,976,000 *3.545% 673
-RALE 673,0002 *12.81% 87
-1ELE 18,976,000& *1.75% 333
~CHEE 18,976,000 * 1% 190
201 fer= 3| 5,400 10,000 24,600
01 At 2|l 5,400 7,000 21,600
ozel & 2 (2, HAHS) 5,400
OoARs 7¢ 1,000,000 «62|*90f% 5,400
301 LEtE NS 1,080 1,200 A120
11 dAMEEIXIE S 1,080 1,200 A120
OgA=E =l 8,000 *302 +52] «90fk 1,080
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B 230z NS
ol QFTAIZ 2Y (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
401 Al HIZL 2018 15,000 15,000
04 SHALZHE Al 2| 15,000 15,000
OXAE B=(TF, HAMME S)
15,000,000& *13] 15,000
LETAIZ I I 79,314 2,064 N12,750
201 ger=3| 53,556 74,964 A\21,408
01 AtR2te|H] 37,700 56,820 A19,120
OFOH Y EEARIHI
4,000,000& »4H 16,000
OXEZEZ € UXNEI= 3,600
OgaEdg 1,000,000 12| +90% 900
OAIEE 3,000, 0002 12| *90f% 2,700
ol & E2= NHUI 11,800
OkE 30, 000 x200*90% 5,400
oglgz 3,000,000 121 %90% 2,700
Odli= 500,000 x2H 1,000
O&AIEA 1,0002*1,0002%90f% 900
OL=$ 1,500 1,000 90% 1,350
OZAH 1,000 50052 *90% 450
OOtELSHZ 1,000,000 12| +90% 900
oxz2s(8tY, gtE)
3,000, 0002 22| *90f% 5,400
02 S3=2g4l 1,59% 2,744 A1,148
OFRER=S 500,000& %12 500
OXZEE= 1,000,000,000&+0. 1% 1,000
Oll=e! NEEE 3,000,000 *4Z 0. 8% %
03 A2 I 14,260 15,400 A1,140
O AIZCIUIOIE 2,000,000 x1&2& 4,000
OTAI S THRY A 2,000,000 * 12 %90% 1,800
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